

Currency Futures & Options Matched Trades

Report for 15/11/2011

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
8:08:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	135	135,000	8.0382	(1,085,157.00)	Client	Sell
8:08:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	135	135,000	8.0382	1,085,157.00	Member	Buy
8:23:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0682	(161,364.00)	Client	Sell
8:23:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0682	161,364.00	Member	Buy
8:31:38	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0760	4,038,000.00	Member	Buy
8:33:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0690	(4,034,500.00)	Client	Sell
8:33:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0060	400,300.00	Member	Buy
8:48:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	140	140,000	8.0814	(1,131,396.00)	Member	Sell
8:59:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	140	140,000	8.0905	1,132,670.00	Client	Buy
9:01:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0825	(6,061,875.00)	Member	Sell
9:04:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0800	40,400.00	Client	Buy
9:04:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0800	(40,400.00)	Member	Sell
9:05:03	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.0900	(8,090.00)	Client	Sell
9:05:05	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	49	49,000	8.0909	(396,454.10)	Member	Sell
9:05:05	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.0909	404,545.00	Member	Buy
9:08:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0780	40,390.00	Client	Buy
9:08:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.0780	(40,390.00)	Member	Sell
9:11:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0768	16,153.60	Client	Buy
9:11:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.0768	(16,153.60)	Member	Sell
9:12:52	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.0765	(48,459.00)	Member	Sell
9:13:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1797	408,985.00	Client	Buy
9:13:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1797	(408,985.00)	Member	Sell
9:14:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.0785	48,471.00	Client	Buy
9:14:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.0785	(48,471.00)	Member	Sell
9:16:42	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0925	6,069,375.00	Client	Buy
9:16:42	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	75	75,000	8.1825	(613,687.50)	Member	Sell
9:16:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0647	(806,470.00)	Client	Sell
9:16:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.0647	806,470.00	Member	Buy
9:16:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0725	201,812.50	Client	Buy
9:16:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0725	(201,812.50)	Member	Sell
9:17:22	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.1657	(24,497.10)	Client	Sell
9:17:22	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.1657	24,497.10	Member	Buy

Page 1 of 14 2011/11/15, 06:01:53PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
9:24:05	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.1671	(24,501.30)	Client	Sell
9:24:05	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.1671	24,501.30	Member	Buy
9:28:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0765	4,038,250.00	Client	Buy
9:28:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0695	(4,034,750.00)	Member	Sell
9:33:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	14	14,000	8.0695	(112,973.00)	Client	Sell
9:33:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	14	14,000	8.0695	112,973.00	Member	Buy
9:35:38	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1395	(406,975.00)	Member	Sell
9:36:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0708	4,035,400.00	Member	Buy
9:37:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0688	4,034,400.00	Member	Buy
9:38:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0690	(6,051,750.00)	Client	Sell
9:38:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0660	2,016,500.00	Member	Buy
9:42:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0925	(6,069,375.00)	Client	Sell
9:42:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0925	6,069,375.00	Member	Buy
9:42:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2712	41,356.00	Client	Buy
9:42:57	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2712	(41,356.00)	Member	Sell
9:45:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0690	(4,034,500.00)	Client	Sell
9:46:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.0690	4,034,500.00	Client	Buy
9:46:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.0690	(6,051,750.00)	Member	Sell
9:46:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.0690	2,017,250.00	Member	Buy
10:10:18	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.0837	121,255.50	Client	Buy
10:10:18	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.0837	(121,255.50)	Member	Sell
10:13:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0758	(32,303.20)	Client	Sell
10:13:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.0758	32,303.20	Member	Buy
10:16:27	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.0655	(241,965.00)	Client	Sell
10:16:27	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.0655	241,965.00	Member	Buy
10:31:37	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0900	(161,800.00)	Client	Sell
10:31:37	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0900	161,800.00	Member	Buy
10:31:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	749	749,000	8.0920	(6,060,908.00)	Client	Sell
10:31:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	749	749,000	8.0920	6,060,908.00	Member	Buy
10:31:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	251	251,000	8.0920	(2,031,092.00)	Client	Sell
10:31:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	251	251,000	8.0920	2,031,092.00	Member	Buy
10:32:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.0950	(283,325.00)	Client	Sell
10:32:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.0950	283,325.00	Member	Buy
10:33:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0815	(202,037.50)	Client	Sell
10:33:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.0815	202,037.50	Member	Buy
10:35:04	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1942	163,884.00	Member	Buy
10:35:04	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1942	(163,884.00)	Member	Sell
10:35:04	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0837	(161,674.00)		Sell
10:35:04	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.0837	161,674.00	Member	Buy
10:35:04	\$ / R 19/12/2011			0.00		1,000	170	170,000	8.0920	(1,375,640.00)		
		Foreign Exchange Future Foreign Exchange Future			1 1		170	170,000				Sell Sell
10:36:42	\$ / R 19/12/2011 \$ / B 10/12/2011	· ·		0.00		1,000			8.0920	(1,375,640.00)	Member	
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	170	170,000	8.0920	1,375,640.00	Member	Buy
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.0990	(56,693.00)		Sell
	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.0990	56,693.00	Member	Buy
10:39:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150 150	150,000	8.1000	(1,215,000.00)	Client	Sell
10:39:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1000	1,215,000.00	Member	Buy

Page 2 of 14 2011/11/15, 06:01:53PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
10:39:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.3079	49,847.40	Member	Buy
10:39:50	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.3079	(49,847.40)	Member	Sell
10:39:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.1010	(48,606.00)	Client	Sell
10:39:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.1010	48,606.00	Member	Buy
10:47:08	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1050	(405,250.00)	Client	Sell
10:47:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1050	(405,250.00)	Client	Sell
10:47:15	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2050	(205,125.00)	Client	Sell
10:47:15	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2050	205,125.00	Member	Buy
10:47:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1073	(202,682.50)	Member	Sell
10:47:24	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2200	(41,100.00)	Client	Sell
10:47:24	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2200	41,100.00	Member	Buy
10:47:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1100	(8,110.00)	Client	Sell
10:47:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1100	8,110.00	Member	Buy
10:47:53	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1200	(81,200.00)	Client	Sell
10:47:53	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	135	135,000	8.1066	1,094,391.00	Member	Buy
10:48:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.1108	(8,110,800.00)	Client	Sell
10:48:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.1108	8,110,800.00	Member	Buy
10:48:37	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1056	(81,056.00)	Member	Sell
10:48:37	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1056	81,056.00	Member	Buy
10:49:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.1250	(73,125.00)	Client	Sell
10:49:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	9	9,000	8.1250	73,125.00	Member	Buy
10:49:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1250	(1,218,750.00)	Client	Sell
10:49:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1250	1,218,750.00	Member	Buy
10:49:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1250	(40,625.00)	Client	Sell
10:49:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1250	40,625.00	Member	Buy
10:50:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1250	(4,062,500.00)	Client	Sell
10:50:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1250	4,062,500.00	Member	Buy
10:51:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1300	(8,130.00)	Client	Sell
10:51:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1300	8,130.00	Client	Buy
10:52:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1300	16,260.00	Client	Buy
10:52:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1300	(16,260.00)	Member	Sell
10:53:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1280	32,512.00	Client	Buy
10:53:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1280	(32,512.00)	Member	Sell
10:54:04	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	33	33,000	8.1400	(268,620.00)	Client	Sell
10:54:04	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	33	33,000	8.1400	268,620.00	Member	Buy
10:54:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1400	(814,000.00)	Client	Sell
10:54:30	·	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1400	814,000.00	Member	Buy
10:54:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1400	(814,000.00)		Sell
10:54:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1400	814,000.00	Member	Buy
10:56:28	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000		(4,070,250.00)		
		Foreign Exchange Future			1		500		8.1405	4,070,250.00)		Sell
10:56:28	\$ / R 19/12/2011 \$ / B 10/12/2011	•		0.00		1,000		500,000	8.1405		Member	Buy
10:59:38	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.1312	65,049.60	Client	Buy
10:59:38	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.1312	(65,049.60)		Sell
11:04:51	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	50 50	50,000	8.1325	(406,625.00)		Sell
11:04:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50 10	50,000	8.1325	406,625.00	Member	Buy
11:05:21	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1358	(81,358.00)	Client	Sell

Page 3 of 14 2011/11/15, 06:01:53PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
11:05:21	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1358	81,358.00	Member	Buy
11:08:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1367	(813,670.00)	Member	Sell
11:09:02	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1310	(203,275.00)	Client	Sell
11:09:02	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1310	203,275.00	Member	Buy
11:09:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1400	(407,000.00)	Client	Sell
11:09:11	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1400	407,000.00	Client	Buy
11:09:28	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1400	(81,400.00)	Client	Sell
11:09:28	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1400	81,400.00	Member	Buy
11:10:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1400	(16,280.00)	Client	Sell
11:10:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	180	180,000	8.1400	(1,465,200.00)	Client	Sell
11:11:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.1400	1,628,000.00	Member	Buy
11:12:28	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1400	(16,280.00)	Client	Sell
11:12:28	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1400	16,280.00	Member	Buy
11:12:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1400	814,000.00	Member	Buy
11:13:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1400	(3,256,000.00)	Client	Sell
11:13:25	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	32	32,000	8.1400	260,480.00	Member	Buy
11:14:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1365	(406,825.00)	Member	Sell
11:14:53	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1355	(813,550.00)		Sell
11:15:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2300	(246,900.00)	Client	Sell
11:15:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2300	246,900.00	Member	Buy
11:15:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1385	162,770.00	Client	Buy
11:15:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1319	243,957.00	Client	Buy
11:15:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1385	(162,770.00)	Member	Sell
11:15:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1319	(243,957.00)		Sell
11:17:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2100	(205,250.00)		Sell
11:19:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1311	(406,555.00)		Sell
11:19:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1311	406,555.00	Member	Buy
11:21:47	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1348	(40,674.00)	Client	Sell
11:21:47	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1348	40,674.00	Member	Buy
11:23:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1400	(244,200.00)		Sell
11:23:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1400	244,200.00	Member	Buy
11:24:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1415	(162,830.00)	Client	Sell
11:24:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1415	162,830.00	Member	Buy
11:24:13	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1415	(81,415.00)		Sell
11:24:13	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1415	81,415.00	Member	Buy
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2400	(82,400.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2400	82,400.00	Member	Buy
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1419	(81,419.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1419	81,419.00	Member	Buy
11:24:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2425			Sell
11:24:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2425	824,250.00	Member	Buy
11:27:26	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1463	4,073,150.00	Client	Buy
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2292	(205,730.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1148	(16,229.60)		Sell
11:32:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1175	16,235.00	Client	Buy
11:32:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1148	16,229.60	Client	Buy
. 1.02.10	φ. / (10/ 12/2011	r oroign Exonange r didle		3.00	•	1,000	_	2,000	5.1170	10,220.00	Julia	Duy

Page 4 of 14 2011/11/15, 06:01:53PM

Matched	Contract Details	Product	Call/Put	Strike	No of	Nominal Underlying	Quantity	Foreign	Traded		Trade	Buy/
Time					Trades	Value		Nominal	Price	in Rand	туре	Sell
11:32:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1175	(16,235.00)	Member	Sell
11:33:17	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1119	(32,447.60)	Client	Sell
11:33:17	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1119	32,447.60	Member	Buy
11:35:08	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1220	(1,218,300.00)	Member	Sell
11:35:08	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1220	1,218,300.00	Member	Buy
11:40:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	126	126,000	8.1109	(1,021,973.40)	Client	Sell
11:40:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	126	126,000	8.1109	1,021,973.40	Member	Buy
11:40:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1173	(81,173.00)	Client	Sell
11:40:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1173	81,173.00	Member	Buy
11:40:51	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.2192	(254,795.20)	Client	Sell
11:40:51	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	31	31,000	8.2192	254,795.20	Member	Buy
11:44:43	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1138	(81,138.00)	Client	Sell
11:44:43	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1138	81,138.00	Member	Buy
11:46:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1145	(243,435.00)	Client	Sell
11:46:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1145	243,435.00	Member	Buy
11:50:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1148	(8,114.80)	Client	Sell
11:50:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1148	8,114.80	Member	Buy
11:51:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1173	16,234.60	Member	Buy
11:51:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1200	(16,240.00)	Client	Sell
11:51:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1200	16,240.00	Member	Buy
11:51:45	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2300	(82,300.00)	Client	Sell
11:51:45	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.2300	82,300.00	Member	Buy
11:57:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1145	243,435.00	Client	Buy
11:57:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1145	(243,435.00)	Member	Sell
11:57:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1278	(40,639.00)	Client	Sell
11:58:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.1258	(56,880.60)	Client	Sell
11:58:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.1258	56,880.60	Member	Buy
11:58:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1300	(203,250.00)	Client	Sell
11:58:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1296	243,888.00	Member	Buy
11:59:11	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2270	(246,810.00)	Client	Sell
11:59:11	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2270	246,810.00	Member	Buy
12:00:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.1295	(8,129,500.00)	Member	Sell
12:00:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.1295	8,129,500.00	Member	Buy
12:00:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1300	(203,250.00)	Client	Sell
12:00:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1300	203,250.00	Member	Buy
12:01:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.1300	(284,550.00)	Client	Sell
12:01:56	·	Foreign Exchange Future		0.00	1	1,000	35	35,000	8.1300	284,550.00	Member	Buy
12:02:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1300	(162,600.00)		Sell
12:02:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1300	162,600.00	Member	Buy
12:02:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1295	(3,251,800.00)		Sell
12:02:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1295	3,251,800.00	Client	Buy
12:08:24		Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1209	(81,209.00)	Client	Sell
12:08:24	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1209	81,209.00	Member	Buy
12:10:51	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1178	(2,435,340.00)		Sell
12:10:51	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1178	2,435,340.00	Member	Buy
	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.1158	(1,623,160.00)		Sell
12.11.00	ψ. ΙΝ ΙΟΙ ΙΖΙΖΟΙΙ	i oroigii Excilalige i utule		0.00	'	1,000	200	200,000	0.1100	(1,020,100.00)	Silcit	OOII

Page 5 of 14 2011/11/15, 06:01:53PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
12:11:39	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.1158	1,623,160.00	Member	Buy
12:13:18	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1138	40,569.00	Member	Buy
12:15:51	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2146	(821,460.00)	Client	Sell
12:15:51	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2146	821,460.00	Member	Buy
12:18:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.1158	(56,810.60)	Client	Sell
12:18:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.1158	56,810.60	Member	Buy
12:18:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.1158	48,694.80	Member	Buy
12:18:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.1158	(48,694.80)	Client	Sell
12:18:58	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	6	6,000	8.1158	48,694.80	Member	Buy
12:30:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1300	(162,600.00)	Client	Sell
12:30:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	870	870,000	8.1300	7,073,100.00	Client	Buy
12:30:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1300	162,600.00	Client	Buy
12:30:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1300	81,300.00	Client	Buy
12:30:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	870	870,000	8.1300	(7,073,100.00)	Member	Sell
12:32:36	\$ / R 19/12/2011	Foreign Exchange Future	С	8.15	1	1,000	560	560,000	221.0000	(123,760,000.00)	Client	Sell
12:32:36	\$ / R 19/12/2011	Foreign Exchange Future	C	8.15	1	1,000	560	560,000	221.0000	123,760,000.00	Member	Buy
12:32:36	\$ / R 19/12/2011	Foreign Exchange Future	P	7.80	1	1,000	560	560,000	93.0000	52,080,000.00	Client	Buy
12:32:36	\$ / R 19/12/2011	Foreign Exchange Future	P	7.80	1	1,000	560	560,000	93.0000	(52,080,000.00)	Member	Sell
12:32:55	\$ / R 19/12/2011	Foreign Exchange Future	•	0.00	1	1,000	8	8,000	8.1329	(65,063.20)		Sell
12:32:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.1329	65,063.20	Member	Buy
12:32:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1329	(406,645.00)	Client	Sell
12:32:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1329	406,645.00	Member	Buy
12:33:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1057	(40,528.50)	Client	Sell
12:33:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1057	40,528.50	Member	Buy
12:35:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1400	(81,400.00)	Client	Sell
12:35:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1400	81,400.00	Member	Buy
12:37:41	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2500	(1,650,000.00)	Client	Sell
12:37:41	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2500	1,650,000.00	Member	Buy
12:39:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1416	(32,566.40)		Sell
12:39:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1416	32,566.40	Member	Buy
12:42:53	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.1450	(122,175.00)	Client	Sell
12:42:53	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.1450	122,175.00	Member	Buy
12:42:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1455	(16,291.00)	Client	Sell
12:42:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1455	16,291.00	Member	Buy
12:42:57	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1460	(81,460.00)		Sell
12:42:57	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1460	81,460.00	Member	
12:42:59	\$ / R 19/12/2011 \$ / R 19/12/2011			0.00	1	1,000	100	100,000	8.1475	(814,750.00)		Buy Sell
	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future			1	,		*		,		
12:42:59		Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1475	814,750.00	Member	Buy
12:43:06	\$ / R 18/06/2012 \$ / B 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3400	(41,700.00)		Sell
12:43:06	\$ / R 18/06/2012 \$ / B 10/13/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.3400	41,700.00	Member	Buy
12:43:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1497	(40,748.50)		Sell
12:43:06	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1497	40,748.50	Member	Buy
12:43:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1500	(8,150.00)		Sell
12:43:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50 50	50,000	8.1500	(407,500.00)		Sell
12:43:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1500	407,500.00	Member	Buy
12:43:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1500	8,150.00	Member	Buy

Page 6 of 14 2011/11/15, 06:01:53PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
12:43:09	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1500	(81,500.00)	Client	Sell
12:43:09	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1500	(1,222,500.00)	Client	Sell
12:43:09	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1500	81,500.00	Member	Buy
12:43:09	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1500	1,222,500.00	Member	Buy
12:43:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1500	(815,000.00)	Client	Sell
12:43:10	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1500	815,000.00	Member	Buy
12:43:13	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1500	40,750.00	Member	Buy
12:43:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	40	40,000	8.1500	(326,000.00)	Client	Sell
12:43:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	40	40,000	8.1500	326,000.00	Member	Buy
12:43:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2500	(41,250.00)	Client	Sell
12:43:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2500	(1,650,000.00)	Client	Sell
12:43:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2500	1,650,000.00	Member	Buy
12:43:19	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2500	41,250.00	Member	Buy
12:43:19	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	205	205,000	8.1522		Member	Sell
12:43:19	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	205	205,000	8.1522	1,671,201.00	Member	Buy
12:44:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1419	(40,709.50)	Client	Sell
12:44:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1419	40,709.50	Member	Buy
12:46:33	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.1360	6,102,000.00	Member	Buy
12:49:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1608	(244,824.00)	Client	Sell
12:49:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1608	204,020.00	Member	Buy
12:49:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1608	40,804.00	Member	Buy
12:52:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1635	16,327.00	Client	Buy
12:53:05	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.1637	57,145.90	Client	Buy
12:53:05	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	7	7,000	8.1637	(57,145.90)	Member	Sell
12:56:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1608	81,608.00	Member	Buy
12:58:13	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1568	(40,784.00)	Client	Sell
12:58:13	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1568	40,784.00	Member	Buy
12:58:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1625	(4,081,250.00)	Member	Sell
13:01:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1558	(163,116.00)	Client	Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1558	163,116.00	Member	Buy
13:02:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.1300	(6,097,500.00)	Client	Sell
13:02:00	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	75	75,000	8.0760	605,700.00	Member	Buy
13:03:46	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	8.2589	,		Sell
13:03:46	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	40	40,000	8.2589	330,356.00	Member	Buy
13:04:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	70	70,000	8.2599	(578,193.00)	Client	Sell
13:04:00	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	70 70	70,000	8.2599	578,193.00	Member	Buy
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1590			Sell
	\$ / R 19/12/2011 \$ / R 19/12/2011			0.00	1	1,000	20	20,000	8.1590		Member	
		Foreign Exchange Future Foreign Exchange Future		0.00	1	1,000		50,000	8.1600	163,180.00		Buy
	\$ / R 19/12/2011 \$ / R 19/12/2011			0.00	1	1,000	50 50	50,000	8.1600	(408,000.00) 408,000.00		Sell
	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1		50 10				Member Member	Buy
		Foreign Exchange Future				1,000		10,000	8.1650 8.1700	81,650.00		Buy
	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1700	(8,170.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1500	(163,000.00)		Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1700		Client	Sell
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1700	163,400.00	Member	Buy
13:06:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1700	81,700.00	Member	Buy

Page 7 of 14 2011/11/15, 06:01:53PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
13:06:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1700	8,170.00	Member	Buy
13:07:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1690	(2,042,250.00)	Member	Sell
13:07:26	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2650	(41,325.00)	Client	Sell
13:07:26	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.2650	41,325.00	Member	Buy
13:08:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1760	2,044,000.00	Client	Buy
13:08:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2390	(205,975.00)	Member	Sell
13:11:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1770	(1,226,550.00)	Client	Sell
13:11:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1700	408,500.00	Member	Buy
13:12:19	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1750	(1,226,250.00)	Client	Sell
13:12:19	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1750	1,226,250.00	Member	Buy
13:12:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1750	(1,226,250.00)	Client	Sell
13:12:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1750	1,226,250.00	Member	Buy
13:16:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1795	(245,385.00)	Client	Sell
13:16:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1795	245,385.00	Member	Buy
13:16:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1800	(16,360.00)	Client	Sell
13:16:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1800	16,360.00	Member	Buy
13:16:36	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2914	(1,658,280.00)	Member	Sell
13:16:36	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	200	200,000	8.2914	1,658,280.00	Member	Buy
13:17:02	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2925	248,775.00	Client	Buy
13:17:02	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2925	(248,775.00)	Member	Sell
13:17:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1827	(2,045,675.00)	Member	Sell
13:17:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1800	16,360.00	Client	Buy
13:17:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1800	(16,360.00)	Member	Sell
13:19:13	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1810	32,724.00	Client	Buy
13:19:13	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	4	4,000	8.1810	(32,724.00)	Client	Sell
13:19:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1897	2,047,425.00	Client	Buy
13:19:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2527	(206,317.50)	Member	Sell
13:20:21	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	46	46,000	8.1770	(376,142.00)	Client	Sell
13:20:21	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	46	46,000	8.1770	376,142.00	Member	Buy
13:20:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.1820	(122,730.00)	Client	Sell
13:20:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.1820	122,730.00	Member	Buy
13:22:18	\$ / R 19/12/2011	Foreign Exchange Future	Р	7.80	1	1,000	560	560,000	100.0000	56,000,000.00	Client	Buy
13:22:18	\$ / R 19/12/2011	Foreign Exchange Future	Р	7.80	1	1,000	560	560,000	100.0000	(56,000,000.00)	Client	Sell
13:25:14	\$ / R 19/12/2011	Foreign Exchange Future	C	8.15	1	1,000	560	560,000	210.0000	(117,600,000.00)	Client	Sell
13:25:14	\$ / R 19/12/2011	Foreign Exchange Future	C	8.15	1	1,000	560	560,000	210.0000	117,600,000.00	Client	Buy
13:25:40	\$ / R 18/06/2012	Foreign Exchange Future	O	0.00	1	1,000	10	10,000	8.3800	(83,800.00)	Client	Sell
13:25:40	·	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3800	83,800.00	Member	Buy
13:25:41	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.3800	(83,800.00)		Sell
13:25:41	\$ / R 18/06/2012			0.00	1	1,000			8.3800	83,800.00	Member	
		Foreign Exchange Future					10	10,000				Buy
13:28:14	·	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1880	(2,047,000.00)		Sell
13:29:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1950	2,048,750.00	Client	Buy
13:29:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2580	(206,450.00)		Sell
13:39:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.3825	(209,562.50)		Sell
13:39:26	\$ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.3825	209,562.50	Member	Buy
13:40:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	40	40,000	8.1753	(327,012.00)	Client	Sell
13:40:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1854	81,854.00	Member	Buy

Page 8 of 14 2011/11/15, 06:01:53PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
13:41:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1854	4,092,700.00	Member	Buy
13:41:41	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1854	(4,092,700.00)	Member	Sell
13:43:36	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1840	(4,092,000.00)	Client	Sell
13:43:36	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1840	4,092,000.00	Member	Buy
13:44:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1705	4,085,250.00	Client	Buy
13:44:57	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1705	(4,085,250.00)	Member	Sell
13:46:02	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1900	(8,190.00)	Client	Sell
13:46:16	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1870	(409,350.00)	Client	Sell
13:46:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	139	139,000	8.1893	(1,138,312.70)	Member	Sell
13:48:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	65	65,000	8.2835	(538,427.50)	Client	Sell
13:48:03	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	65	65,000	8.2835	538,427.50	Member	Buy
13:48:16	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	65	65,000	8.2856	(538,564.00)	Client	Sell
13:48:16	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	65	65,000	8.2856	538,564.00	Member	Buy
13:48:30	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	65	65,000	8.2853	538,544.50	Member	Buy
13:48:31	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	65	65,000	8.2853	(538,544.50)	Client	Sell
13:48:44	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1980	2,049,500.00	Client	Buy
13:48:44	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2790	(206,975.00)		Sell
13:52:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1488	(40,744.00)		Sell
13:52:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1824	8,182.40	Member	Buy
13:55:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1820	(81,820.00)	Client	Sell
13:55:29	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1820	81,820.00	Member	Buy
14:01:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1756	(3,270,240.00)	Client	Sell
14:01:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1756	3,270,240.00	Member	Buy
14:01:38	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1761	245,283.00	Client	Buy
14:01:38	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.1761	(245,283.00)	Member	Sell
14:05:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1682	163,364.00	Client	Buy
14:05:24	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1682	(163,364.00)		Sell
14:08:17	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1720	(2,451,600.00)	Client	Sell
14:08:17	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1720	2,451,600.00	Member	Buy
14:08:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1718	(2,451,540.00)	Client	Sell
14:08:51	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1718	2,451,540.00	Member	Buy
14:09:03	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1718	(2,451,540.00)	Client	Sell
14:09:03	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1718	2,451,540.00	Member	Buy
14:09:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1715	(817,150.00)	Client	Sell
14:09:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1715	817,150.00	Member	Buy
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.1680	6,126,000.00	Member	Buy
	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	570	570,000	8.1650	(4,654,050.00)		Sell
14:32:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	570	570,000	8.1650	4,654,050.00	Member	Buy
	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1700			Sell
	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00 0.00	1 1	1,000	10 7	10,000 7,000	8.1700 8.1700	81,700.00 (57,190.00)	Member Client	Buy
		Foreign Exchange Future				1,000	7		8.1700 8.1700	(57,190.00)		Sell
14:55:41	\$ / R 19/12/2011 \$ / B 19/12/2011	Foreign Exchange Future		0.00	1	1,000		7,000	8.1700 8.1700	57,190.00 (16.358.00)	Member	Buy
14:59:44	\$ / R 19/12/2011 \$ / B 10/03/2012	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1790	(16,358.00)		Sell
	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.2875	(66,300.00)		Sell
	\$ / R 19/12/2011 \$ / B 10/12/2011	Foreign Exchange Future		0.00	1	1,000	80 79	80,000	8.1860	654,880.00	Client	Buy
15:00:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	78	78,000	8.1862	(638,523.60)	wember	Sell

Page 9 of 14 2011/11/15, 06:01:53PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
15:02:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	23	23,000	8.2820	190,486.00	Client	Buy
15:02:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.2790	(124,185.00)	Member	Sell
15:14:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	8.1718	(12,257,700.00)	Client	Sell
15:14:54	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,500	1,500,000	8.1718	12,257,700.00	Member	Buy
15:19:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.2790	(4,139,500.00)	Member	Sell
15:19:34	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.2790	4,139,500.00	Member	Buy
15:20:09	\$ / R 19/12/2011	Foreign Exchange Future	С	8.25	1	1,000	400	400,000	206.0000	(82,400,000.00)	Member	Sell
15:20:09	\$ / R 19/12/2011	Foreign Exchange Future	С	8.25	1	1,000	400	400,000	206.0000	82,400,000.00	Member	Buy
15:21:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	750	750,000	8.1580	(6,118,500.00)	Client	Sell
15:21:30	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	75	75,000	8.0680	605,100.00	Member	Buy
15:28:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1712	408,560.00	Member	Buy
15:30:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	241	241,000	8.1132	1,955,281.20	Member	Buy
15:30:14	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1695	(8,169.50)	Member	Sell
15:33:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	400	400,000	8.1703	3,268,120.00	Client	Buy
15:33:23	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1704	(2,451,120.00)	Member	Sell
15:33:48	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1611	(81,611.00)	Client	Sell
15:33:48	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1611	81,611.00	Member	Buy
15:41:06	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.1572	(815,720.00)	Client	Sell
15:42:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	241	241,000	8.1237	(1,957,811.70)	Member	Sell
15:42:22	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	8.1485	8,148.50	Member	Buy
15:42:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1485	(40,742.50)	Client	Sell
15:42:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1485	40,742.50	Member	Buy
15:43:10	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2557	(247,671.00)	Client	Sell
15:43:10	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	30	30,000	8.2557	247,671.00	Member	Buy
15:43:10	\$ / R 19/12/2011			0.00	1	1,000		3,000	8.1536	(24,460.80)	Client	Sell
15:43:10	\$ / R 19/12/2011 \$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.1536	24,460.80		
	·	Foreign Exchange Future		0.00	1		5				Member Client	Buy
15:45:04	\$ / R 19/03/2012 \$ / R 19/03/2012	Foreign Exchange Future			1	1,000		5,000	8.2489	(41,244.50)		Sell
15:45:04	·	Foreign Exchange Future	0	0.00	•	1,000	5	5,000	8.2489	41,244.50	Member	Buy
15:45:59	\$ / R 19/12/2011	Foreign Exchange Future	C C	8.25	1	1,000	400	400,000	195.0000	(78,000,000.00)	Client	Sell
15:45:59	\$ / R 19/12/2011	Foreign Exchange Future	C	8.25	1	1,000	400	400,000	195.0000	78,000,000.00	Member	Buy
15:47:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1588	(81,588.00)	Client	Sell
15:47:56	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1588	81,588.00	Member	Buy
15:51:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.1154	8,115,400.00	Client	Buy
15:51:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1391	(2,034,775.00)	Client	Sell
15:51:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	50	50,000	8.1310	(406,550.00)	Client	Sell
15:51:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.1154	(8,115,400.00)	Member	Sell
15:51:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	315	315,000	8.1310	2,561,265.00	Member	Buy
15:51:15	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	250	250,000	8.1391	2,034,775.00	Member	Buy
15:53:05	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1632	(204,080.00)	Client	Sell
15:53:05	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.1632	204,080.00	Member	Buy
16:02:13	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1630	(163,260.00)	Client	Sell
	\$ / R 19/12/2011	Foreign Exchange Future	_	0.00	1	1,000	20	20,000	8.1630	163,260.00	Member	Buy
16:06:11	\$ / R 18/06/2012	Foreign Exchange Future	С	6.75	1	1,000	4,850	4,850,000	1,717.0800	8,327,838,000.00	Client	Buy
16:06:11	\$ / R 18/06/2012	Foreign Exchange Future	С	6.75	1	1,000	4,850	4,850,000	1,717.0800	(8,327,838,000.00)	Member	Sell
16:09:45	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1665	40,832.50	Member	Buy
16:09:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1665	(40,832.50)	Client	Sell

Page 10 of 14 2011/11/15, 06:01:53PM

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
16:10:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1675	(81,675.00)	Client	Sell
16:10:12	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1675	81,675.00	Member	Buy
16:11:44	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1715	(81,715.00)	Client	Sell
16:11:44	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.1715	81,715.00	Member	Buy
16:14:58	\$ / R 19/12/2011	Foreign Exchange Future	С	6.75	1	1,000	5,925	5,925,000	1,402.7800	(8,311,471,500.00)	Client	Sell
16:14:58	\$ / R 19/12/2011	Foreign Exchange Future	С	6.75	1	1,000	5,925	5,925,000	1,402.7800	8,311,471,500.00	Member	Buy
16:22:17	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1660	(4,083,000.00)	Member	Sell
16:22:17	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1660	4,083,000.00	Member	Buy
16:22:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1659	(2,449,770.00)	Client	Sell
16:22:34	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	300	300,000	8.1659	2,449,770.00	Member	Buy
16:24:26	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.1675	(24,502.50)	Client	Sell
16:24:26	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.1675	24,502.50	Member	Buy
16:26:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1700	(40,850.00)	Client	Sell
16:26:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1700	40,850.00	Member	Buy
16:35:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.1725	(65,380.00)	Client	Sell
16:35:55	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	8	8,000	8.1725	65,380.00	Member	Buy
16:42:01	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1470	4,073,500.00	Member	Buy
16:43:04	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1500	(40,750.00)	Client	Sell
16:43:04	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	8.1500	40,750.00	Member	Buy
16:43:48	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	265	265,000	8.1310	(2,154,715.00)	Client	Sell
16:46:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1442	(162,884.00)	Client	Sell
16:46:40	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	20	20,000	8.1442	162,884.00	Member	Buy
16:48:20	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1420	16,284.00	Member	Buy
16:48:20	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1420	(16,284.00)	Client	Sell
16:48:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.1347	(122,020.50)	Client	Sell
16:48:49	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	15	15,000	8.1347	122,020.50	Member	Buy
16:49:08	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1350	(4,067,500.00)	Client	Sell
16:49:08	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1350	4,067,500.00	Member	Buy
16:50:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	48	48,000	8.1420	(390,816.00)	Client	Sell
16:50:46	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	48	48,000	8.1420	390,816.00	Member	Buy
16:52:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1424	(16,284.80)	Member	Sell
16:52:07	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	2	2,000	8.1424	16,284.80	Member	Buy
16:52:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1414	(4,070,700.00)	Client	Sell
16:52:31	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	8.1414	4,070,700.00	Member	Buy
16:57:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.1462	(488,772.00)	Client	Sell
16:57:50	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	60	60,000	8.1462	488,772.00	Member	Buy
16:59:59	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.2449	(24,734.70)	Client	Sell
16:59:59	\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.2449	24,734.70	Member	Buy
16:59:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.1480	24,444.00	Member	Buy
16:59:59	\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	3	3,000	8.1480	(24,444.00)	Member	Sell
Total Futu	ures			235		29,691	29,690,500		241,708,945.40			
Total Opt	tal Options						13,815	13,815,000		17,149,149,500.00		
Total for	/ R Foreign Exchange F	uture		243		43,506	43,505,500		17,390,858,445.40			

Matched Time	Contract Details	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
12:35:21	\$ / R MAXI 19/03/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.2550	(4,127,500.00)	Member	Sell
12:35:21	\$ / R MAXI 19/03/2012	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.2550	4,127,500.00	Member	Buy
12:35:21	\$ / R MAXI 19/12/2011	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.1538	(4,076,900.00)	Member	Sell
12:35:21	\$ / R MAXI 19/12/2011	Foreign Exchange Future		0.00	1	100,000	5	500,000	8.1538	4,076,900.00	Member	Buy
Total Futu	ures				2		10	1,000,000		8,204,400.00		
Total Opti	ions											
Total for \$	/ R MAXI Foreign Excha	nge Future			2		10	1,000,000		8,204,400.00		
9:08:47	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.8200	(128,200.00)	Client	Sell
9:08:47	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.8200	128,200.00	Member	Buy
10:18:47	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.1350	(131,350.00)	Client	Sell
10:18:47	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.1350	131,350.00	Member	Buy
10:32:00	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.8700	(128,700.00)	Client	Sell
10:32:00	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.8700	128,700.00	Member	Buy
12:39:13	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	17	17,000	12.9228	(219,687.60)	Client	Sell
12:39:13	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	17	17,000	12.9228	219,687.60	Member	Buy
12:52:50	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	17	17,000	12.9330	219,861.00	Member	Buy
12:52:50	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	17	17,000	12.9330	(219,861.00)	Member	Sell
12:53:05	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	17	17,000	12.9330	219,861.00	Member	Buy
12:53:05	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	17	17,000	12.9330	(219,861.00)	Member	Sell
13:04:20	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.2150	(66,075.00)	Client	Sell
13:04:20	£ / R 18/06/2012	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.2150	66,075.00	Member	Buy
13:12:31	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	13.1055	(52,422.00)	Client	Sell
13:12:31	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	4	4,000	13.1055	52,422.00	Member	Buy
15:22:52	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.0910	(1,309,100.00)	Client	Sell
15:22:52	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.0910	1,309,100.00	Member	Buy
15:33:02	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.0895	(1,308,950.00)	Client	Sell
15:33:02	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	150	150,000	13.0895	1,963,425.00	Member	Buy
15:39:09	£ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.0895	(654,475.00)	Client	Sell
16:52:04	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.9080	(129,080.00)	Client	Sell
16:52:04	£ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.9080	129,080.00	Member	Buy
Total Futu	ures				12		350	350,000		4,567,761.60		
Total Opti	ions											
Total for £	E / R Foreign Exchange F	uture			12		350	350,000		4,567,761.60		
10:32:25	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	25	2,500,000	0.1060	(265,000.00)	Client	Sell
	¥ / R 19/03/2012	Foreign Exchange Future		0.00	1	100,000	25	2,500,000	0.1060	265,000.00	Member	Buy
	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	500	50,000,000	0.1070	5,350,000.00	Client	Buy
	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	500	50,000,000	0.1070	(5,350,000.00)	Member	Sell
	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	500	50,000,000	0.1071	5,354,000.00	Client	Buy
	¥ / R 19/12/2011	Foreign Exchange Future		0.00	1	100,000	500	50,000,000	0.1071	(5,354,000.00)	Member	Sell
13.37.14	+ / 1\ 13/12/2011	i dieigii Excilatilge Futule		0.00	1	100,000	500	30,000,000	0.1071	(3,334,000.00)	MEHIDEI	OCII

Page 12 of 14 2011/11/15, 06:01:53PM

Matched Contract Details Time	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Trade Type	Buy/ Sell
Total Futures				3		1,025	102,500,000		10,969,000.00		
Total Options											
Total for ¥ / R Foreign Exchange F	uture			3		1,025	102,500,000		10,969,000.00		
10:32:12 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.0000	(55,000.00)	Client	Sell
10:32:12 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	5	5,000	11.0000	55,000.00	Member	Buy
12:35:21 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.0388	(1,103,880.00)	Member	Sell
12:35:21 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	11.0388	1,103,880.00	Member	Buy
12:46:33 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.0153	5,507,650.00	Client	Buy
12:46:33 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.0153	(5,507,650.00)	Member	Sell
14:05:10 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.0603	5,530,150.00	Client	Buy
14:05:10 € / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	500	500,000	11.0603	(5,530,150.00)	Member	Sell
	Foreign Exchange Future		0.00	'	1,000			11.0003	,	Wellibei	Seli
Total Futures				4		1,105	1,105,000		12,196,680.00		
Total Options											
Total for € / R Foreign Exchange F	uture			4		1,105	1,105,000		12,196,680.00		
10:18:22 AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.1950	8,195,000.00	Member	Buy
10:23:50 AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	8.1849	(8,184,900.00)		Sell
10:23:50 AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	150	150,000	8.1283	1,219,245.00	Member	Buy
11:49:50 AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2,098	2,098,000	8.2850	(17,381,930.00)	Client	Sell
11:49:50 AU\$ / R 17/09/2012	Foreign Exchange Future		0.00	1	1,000	2,098	2,098,000	8.2850	17,381,930.00	Member	Buy
13:13:27 AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.2490	(6,599,200.00)	Client	Sell
13:13:27 AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	800	800,000	8.2490	6,599,200.00	Member	Buy
15:16:44 AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2800	(207,000.00)	Client	Sell
15:16:45 AU\$ / R 19/03/2012	Foreign Exchange Future		0.00	1	1,000	25	25,000	8.2800	207,000.00	Member	Buy
15:23:00 AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2361	(823,610.00)	Client	Sell
15:23:00 AU\$ / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	100	100,000	8.2361	823,610.00	Member	Buy
Total Futures				6		4,098	4,098,000		33,811,312.50		•
Total Options						.,000	.,000,000		00,011,012.00		
·	io Euturo			6		4 000	4 009 000		33,811,312.50		
Total for AU\$ / R Foreign Exchang	je Future					4,098	4,098,000		33,011,312.50		
10:52:50 CAD/ R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9900	7,990.00	Client	Buy
10:52:50 CAD/ R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	1	1,000	7.9900	(7,990.00)	Member	Sell
Total Futures				1		1	1,000		7,990.00		
Total Options											
Total for CAD/ R Foreign Exchange Future				1		1	1,000		7,990.00		
9:57:53 CHF / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.8543	88,543.00	Client	Buy
9:57:53 CHF / R 19/12/2011	Foreign Exchange Future		0.00	1	1,000	10	10,000	8.8543	(88,543.00)		Sell
9.07.30 OH / K 18/12/2011	i oreign Exchange Future		0.00	ı	1,000	10	10,000	0.0043	(00,043.00)	MEHIDEI	OGII

Matched Contract Details Time	Product	Call/Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Value in Rand	Buy/ Sell
Total Futures				4		10	10,000		88,543.00	
				•		10	10,000		00,543.00	
Total Options	Fotons			4		40	40.000		00 540 00	
Total for CHF / R Foreign Exchange	Future					10	10,000		88,543.00	
Total Futures				263		36,290	138,754,500	31	1,554,632.50	
Total Options				8		13,815	13,815,000	17,149	9,149,500.00	
Grand Total for all Instruments				271		50,105	152,569,500	17,46	0,704,132.50	